BIC
10°

log[ Relative Probability ] .

Window Half—Width (km/s)

107

10°

—2000 0

—4000

6000

100 1000 10*

10

rm871 X*/(412508—5083)=8.641
— ‘1 - - - - 1 r - 1 T~ T T T T T T T 1T T T T T T3
g BIC 3586413.75 ABIC 0.000 AlogP 0.0000 ]
i X% 3520690.50 Ax?> 0.000 AlogP 0.0000 -
[ o ] BIG
- 1 X
i 5083 ]
A
L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1
5 10 15 20 25 30
30 iterations
rm871 X%/ (412508—5083)=8.641
r——+— . ~ 1~ - - 1 - ~ T T~ T r T T T 1T ' T T T 1T T T T T 1]
BIC 3586413.75 ABIC 0.000 AlogP 0.0000
.................................... X2 -3520690.50. Ax? -0.000. AlogP- 0.0000Q.
5083 ]
A
- - - ¢ - 5-oucocltocyt oty ocpcopc4con oyttt ot bocgcoyconytocyt ottt ottt o)
10 15 20 25 30

Fe2 4% 0+0 km/s

rm871 BLR 3000 NLR 900 km/s
Fr— 1 - T T T T T T T T 1 T T T T 1T T T T T T T T T T T3
i 1BLR
L 4 NLR
I 5083 ]
I N ]
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
5 10 15 20 25 30

30 iterations

kdh1 15-0ct-2021 20:17



